ĐÁP ÁN BÀI 3 TRANG 41 SÁCH GIÁO KHOA HÓA 9
Đề bài

Viết phương trình hóa học cho những chuyển đổi hóa học sau:
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[image: image2.jpg]a) (1) Fey(SOy)3 + 3BaCly — 2FeCly + 38aS0y |
(2) FeCl3 + 3NaOH — 3NaCl + Fe(OH)3/

(3) Fep(S04)3 + 6NaOH — 3NaSO, + 2Fe(OH); |
(4) 2F€(OH)3 + 3H,S04 — Fe(SOy)3 + 6H0
(5)2Fe(OH); < Fey03 + 3H,0

(6) Fey03 + 3H,S0, — Fey(S04); + 3H,0

b) (1) 2Cu+ 0, 5 20u0

@)Cu0 + Hy 5 Cus 0

(3) CUO + 2HCI — CuCly + H,0

(4) CuCly + 2NaOH — Cu(OH), | + 2NaCl

(5) Cu(OH); + 2HCI — CuCly + 2H,0

(6) Cu(OH) 5 Cuo + Hy0
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